2024'd FOI7HI0| ed]'d MFESF

2R 288 gy HOlE @It RBEKAA DA g AXE E@gH| any
29 FoqUR MxE HYRYUR =8 | 1 14 9 #100,000] #100,000
2 |29 FoUR M2 HjR= HURAHUE 32 | He 14 7 #100,000] #100,000
3 |29 FoUR S ATY S 32 | He 1 6 #100,000] #100,000
4 |29 FoUR +EUUNSZH 2HE 5 32 | He 10 7 #100,000] #100,000
5 |24 FoUR 2SEY U SHUMEE 7|= =8 | 1 15 8 #80,000] #80,000
6 |29 FoUR SHEA 2/23 2| A MR A 32 | He 15 7 #80,000] #80,000
7 |24 FoUR ZALE RYMEF HYH 32 | He 6 4 #80,000] #80,000
8 |29 FoUR £h|ghd g2 H| =LA ol Y =8 | 1 20 13 #100,000| #100,000
9 |29 DoMD MEH sp|AT 22| =g | Hd 15 7 #100,000| 100,000
10 |29 FoqUR TR} sfelayT|Y =8 | 1 10 5 #100,000] #100,000
1 |29 FoqUR Incoterms 2020 F2 W Arg =8 | 1 3 1 #O #0
12 |24 foMR sfelutolof shatetE g Mat =3 | 174¥ 5 1 W0 w0
13 |29 FoUR F9UR OrAE I7|X| =3a| Mg 64 42 #392,000] #392,000
14 |29 FoUR A YUAHR Upgrade TH7|X| =2 | 3 41 24 #238,000] #238,000
15 |29 FoUR +E8 88 A MES a7t FAUR =8 | 1 3 2 #40,000] 40,000
16 |29 FooAE FE07E 7|1= =8 | 1 10 6 #100,000] #100,000
17 |29 FooAE HIO|01E AFZE = TAIOHE 32 | He 6 4 #80,000] #80,000
18 |29 FooAE YAEQIoZ ofeHtolof w=st7| =8 | 1 3 2 #40,000] 40,000
19 |29 FooA g OfOE 28 22t0l of < Jtof 2t =3 | 14 3 2 40,000 40,000
20 (29 FooA g 22| HiHf(Alibaba.com) B2B Ot & =g | 174e 3 2 #40,000] 40,000
21 |89 FooA g fEE 28 43 0p7E =22 | 174g 3 2 40,000 40,000
22 |29 FooA g 22kl sielotH e Fet (FAEol/otnrE/2albE/ R E) =3 | 14 12 6 #150,000) #150,000
23 |29 FooA g Y I H=L A HY 5 | 14 1 6 #80,000) 80,000
24 |29 fooAE 22 H=UA Yo =y HE ol M 22 | 1H 7 4 #80,000) 80,000
25 |29 fooAE HIEH AIZTES 9ot U7 kot =g | 174e 4 1 #40,000] 40,000
26 |29 fooAE AW "= A oY =3 | 14 2 2 40,000 40,000
27 |89 Fo0AH g 22 0|7{0{A D dEn 28 =g | 174e 3 1 40,000 40,000
28 |29 FooA g O|7{0{2 OFAE T{7|X| =g | 34 19 11 #154,000) #154,000
29 |29 SY/FA AT FTA 2812 =g | 174e 13 13 #100,000) #100,000
30 (29 SY/FA FTA RIAHR| e 42 32 | He 6 6 060,000 #60,000
31 |29 SY/FA FTA AR MREY U2 =g | 174e 6 6 060,000 #60,000
32 |24 S/ FTA Of Mot E42 XHSO|X| =2 | 4E 7 4 w0 w0
33 |29 g 2o Y HEZ =g | 174e 10 6 80,000 #80,000
34 | RFZAIRCHH| | 2 F0] 209 Eh7|2d R0l sia| e 20 13 #100,000) #100,000
35 (A7 o E/8% Ho|~5 O e HHE7|Y =22 | 174g 6 8 50,000 50,000
36 (A7 o E/8% QIAEIDR O E MY =g | 174e 5 2 #50,000] #50,000
37 [A% oA /8% 2H|XRO| |22 Of= A3 RE, AIZE gjojah =3 | 174 10 10 #85,200| 14,800 #100,000(2 22| MM, AH|AIZS OfEH SE 07t
38 |7 oA /8% UEBE QIS 107HK] A 7% Y | 17HE 10 10 #85,000| %15,000( #100,000|&4t0| O|EH A R8% FO0|of
39 |H% 0g/49 AxpArAE YA o] CIXIE ObA|Y A2t =3 | 18 10 3 w50,000| w3s000]  wesooo| SN BUTTE ST UIEE SAL BTSN ES
40 |E2 oA /49 ESG HI2 27| =g | 174e 8 1 #50,000 50,000
41 |32 oA /8% flchet ZHEAE 82100 A Hi = Lot AS U2 | 17HE 8 5 #101,200| #33,000( #134,200| 2t} ZH|SH20| / DHSIZAR A A ALE
42 |32 oA /8% LHZEQ S 22 H| =LA OfL =g | 174 15 7 #98,000| %26,000( #124,000|H|=L|A OjL Hlo|E
43 |H2 oA /8% W orSat X2 e ol= SEE 5§, 2F 24| EUME =g | 174 10 3 110,000 wo| 110,000
4 |H2 oA /8% UEe{o| AALE, B2B OO E OHHE =g | 174 10 2 90,000 wo|  %90,000
45 |H2 HEng 7|22 2otdE JEE Afjo] 2ast Y \%! o7 UE | 1HE 4 2 20,000 20,000
46 |HF HEng RERE MTF KGR HY W 4318 ogn U2 | 17HE 2 1 20,000 20,000
47 | A2 Heng -2 AHZE 297 AR A Y 1EE q|t§ﬂ% 14 1 #10,000] 10,000
48 |HF ITH| =L~ [Cl0IE Q128 H|O|E{ 2 Atmstat U2 | 17HE 10 3 #100,000) #100,000
49 [F2 ITH| =L AtE|2 YOtE & Al Transformation 7% UE | 1HE 10 10 #103,000| #17,000] ¥120,000(Al £[Z2| ¢
50 |XE ITH| =L Al O] L=t O] M U2 | 17HE 13 13 50,000 50,000
51 =g ITHI=L|A XS HjR= ©2id(Deep Learning) e | 17He 10 10 116,000 24,000 #140,000|2F2| Eajd
52 |H% ITH| =L~ REE 9o 0|8 24 with Excel(Power BI) U2 | 17HE 16 16 #100,000 %20,000( #120,000|2t2tst M2 H|O|E £4 with Excel
53 (== ITH =LA Qo= 104 YEH I 4 =3 | 174 8 2 ¥83,000 #17,000( #100,000{%22 10 HHA +¢
54 |XF ITH| =L T2 0 d2lElx GA4 HIOIH 24 48 =g | 174e 3 3 #30,000] #O 30,000
55 [x= ITHI= LA ChatGPTE 20| E8H= H|=L|A oA 1 =3 | e 12 12 80,000 #15000(  ¥95,000|MGPT + 24 2RI} A
56 |=E ITH| =L ChatGPTZ 12|0|ESt= H| =LA A 2 =g | 174 12 12 80,000 wO|  W80,000
57 |xg ITH| =LA Al OpAE| T§7|X| =3 | 33 27 27 190,000 15,000 ¥205,000(3GPT + AM AL2XS5t HY
58 |=g OA [PPTO| M ZHE| R7F0| HCHE £210|E H|Z HlE =g | 174 10 4 100,000 #100,000
59 |Ag OA [PPTO| M Pro2Ze{o| ZA|1 HE2 EM 22 B ] 10 4 #100,000] #100,000
60 |HF OA AEolg et AP AM 2016 - CIO|H 24 Y& =3 | 171 24 10 #80,000] #80,000
61 |HF OA AEolg et AP AM 2016 - CIO|H &4 MH =3 | 171 24 11 #80,000| #80,000
62 |H% OA [HDJHIZ B Ht2 M= ZZEQl Word 2016 Part.1 =3 | 171 17 5 34,000 #34,000
63 |ZF OA [HDJHIZ B 9| HtE2 M= ZZ2l Word 2016 Part.2 =3 | 171 17 4 34,000 #34,000
64 |Eg OA [HDJH &&= H| AIZFSEXL - MOS AHAE 7| (MS Word 2016 Experff =3 | 170€ 10 4 20,000 20,000
65 [XZ OA [HDIF Y& H| AIZSEAE - MOS A4 F 7| (MS Excel 2016 Expert) =5 | 17H& 10 5 20,000 #20,000
66 |Z% OA [HDIF Y EH| AIZSEAL - MOS XHAS W] (MS PowerPoint 2016 | =& | 17H€ 10 4 #20,000] 20,000
67 |H% OA [HDIF =] A|IZSIAE - MOS RS 7| (MS Access 2016 Expe| =3 | 17HE 8 3 #16,000] #16,000
68 |2=0f H =LA Fof 102 8toj| Bt2ZHE Biz Writing = | g 11 3 #49,000| #49,000
69 |el=0f HI=L 2 Fof H| =L AT} 2|9 X| = Biz E-mail 23 | 14E 16 4 59,000 59,000
70 [el=0f HI=L 2 Fof AELS 2ldema BP0 =g | 174 21 5 69,000 69,000
71 |2d=9 H =LA Fof PAGODA 7| £%|3} | can speak 1 =3 | 171 20 8 #65,000| 15,000 #80,000i Can Speak 1 Blue
72 |29 H =LA Fof PAGODA 7|%2|3} | can speak 2 B ] 20 7 #65,000| #15,000 #80,000i Can Speak 2 Blue
73 |29 H =LA Fof PAGODA 7|%2|3} | can speak 3 B ] 20 9 #65,000| 15,000 #80,000i Can Speak 3 Blue
74 |@=0f Hl =LA gof PAGODA ¥ 0{21%|5} SLE 1 32 | e 24 7 70,000 15,000 #85,000| Speaking Listening Expression Compact
75 |@=0f Hl =LA gof PAGODA ¥ 0{215|5} SLE 2 32 | e 24 7 #70,000| 15,000 #85,000| Speaking Listening Expression 2 compact
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76 |A=0 H =LA Fof PAGODA &0{8I3|3} SLE 3 3= | 1HE 20 10 #70,000| #10,000 #80,000|SLE Compact Edition Level 3

77 |29 =LA Hof 18871 4¥2 2 iR = Biz 212 (1) za | 1 15 15 #70,000| 22,000 #92,000|H| =LA HOj{3|zt EHALY

78 |29 =LA Hof 18871 4¥C 2 iR = Biz 212 (2) za | 1 15 15 70,000 70,000

79 |29 =LA Hof 18871 4¥2 2 Hif= Biz 21| (3) =g | Hd 15 15 #70,000] 70,000

80 [2=0of =LA Hof New H=Q10] B0| 3= F0f M= (1) =8 | 1 20 9 #60,000] 60,000

81 [2=9 =LA Hof New $H=010| B40| 3= Fof M= () =8 | 1 20 9 #60,000] 60,000

82 |2=0f H =LA Fof 12 YOl 725 - QAAO|E & 32 | He 20 7 #80,000] #80,000

83 |2=0f H =LA Fof 12 ¥0 28 - £0| &= 72 a8 | e 20 7 #80,000| 80,000

84 |2=0f H| =LA g0 Let's Role-Play! Z3t2A{ Hi 2= H|= Hof (1) =g | Hd 20 4 #80,000| 13,500 #93,500(345EH0{2 Bl = H|=L|A Joj2|3t
85 |2/=0] H =LA ¥of Let's Role-Play! 23t Hi 2= H|= HO (2) =g | Hd 20 4 #80,000] #80,000

86 |20 H =LA Fof [FR14H[et H|=L A 019 1 32 | 17 13 9 77,000 77,000

87 |2A=9 =LA Fo [Ff4lHeh H|=L| A 019] 2 32 | 1 14 9 77,000 77,000

88 |2A=9 H| =LA g0 [—'%%]ﬂﬂlfﬂ H[Z=L[A 0{%] 3 32 | e 12 8 77,000 77,000

EHEEER Hl=L2 ol 0222 #7 DIAESHE HIZLIA Ao FOf Step 1 3| g | s 5 w70000]  16000(  w86,000| 1 o Lne ST AETTITE ATIASEE
90 |gl=of H =LA Fof 10222 &7 OfAHSh= =LA A 9F FOf Step 2 a2 | 171g 13 5 70,000 #70,000

91 |el=of HI=L|A Q&0 ARAR ARO| 7|X 1 =3 | 174¥ 22 6 #70,000| #18,000 W87,000[NEW AT AT UE0f 7| Xty +

92 |2A=9 H=L A A20] AFAT AR 7|E 2 =g | 174 22 4 69,000 - 69,000

93 |el=of HI=L|A Q&0 ARAR ARO| 7|X3 =3 | 174¥ 22 8 #69,000| #18,000 W87,000[NEW AT AT A&0f 7| Xty T

94 |el=of HI=L|A 20| ARAR ARO| 7|X 4 =g | 174¥ 22 8 69,000 -| 69,000

95 |2A=9 H=LA 2o Cref @l Biz Y=0f OpAE] - oo e ® ag | 1HE 20 8 W70,000( 9,000 79,000 (£ A= OK! HI =LA 20 2MEHY
96 |2A=9 H=L A A20] Ctardl Biz 2=0f OtAH =g =g | 174 20 13 W60,000( #15,000 W75000( Y& HI=LA HEE 9l 2032 -7[2H-
97 |A=9 H =LA A20] Ctargl Biz 220f OtAH S5 32 | 1 20 13 W60,000( #15,000 W75000( Y& HI=LA HEES flo YE20{3|2t -HTH-
98 [2=0f H =LA A=20] Ct2f @l Biz €20f OhAE g g | 1 20 13 #60,000| ¥12,000 #72,000|0flb| 2 H| =LA L0

99 |2=9 H=LA g2 LEOZ [MLEAN H2tH 2f oy A=0] 1 Z8 | 1HE 15 13 W70,000( #14,800 84,800 o8 A=0f

100|959 Hl=LA 20 YEOoZ [MLEX Hj2tH2t ol =0 2 =2 | 14¥ 15 13 #70,000) 70,000

101 [2]=0] H =LA 220 H72| 2 b 2= H2tH2t YL =20 =g | K 15 13 70,000 70,000

102 [2]=0] H =LA 220 A X9 HH 2 Hi = H2tH 2t WA =0f =g | K 15 13 70,000 70,000

103 |2|=0f H=L A A0 L& vl Yo @M B e= OtEel 3602 (1) =3 KN 20 4 W70,000( #13,000 w83,000(Y&0f & = OOl 60027

104 [2]=0] H =LA 220 U2 X 2o e 2= ool 3602% (2) E=FS| KN 20 4 #70,000 70,000

105 | 2|=0f H =LA 220 L& o Yo @M B 2= OtEol 3602 (3) E=FS| KN 20 4 #70,000 70,000

106 [21=0] H=L A F30f TC S0 7| 3]9) (o) z8 | 1HE 19 7 W79,000( #17,000 #96,000 (Tt CH 20 7| X33}

107 |9I=9 Hl=LA 530 oact 30f 7| X 3|5t (3h =3 | 14¥ 19 6 #79,000 .| w79,000

108 |2/=0f H=L A 530 Lo 4 gle SREY 30| - tdas|oH = | 174¥ 20 10 w70,000| #15,000 w85000(Lto] & ol B2EE 530

109 [2l=0] H =LA F50] Lol 4 gle SREY 30 - BAHE (1) =3 | 1 20 10 W70,000( #15,000 w85,000(Lt0] & ol B2EE 5370

110 [2]=0] H=L A F30f Lol 4 gle SREY 30 - BAH () =3 | 1 20 10 #70,000 70,000

11 2150 H=L A F30f Lol Y gle S2EY 30/ - 22H (1) =3 | 1 14 7 W70,000( #15,000 w85,000(Lto] & ol B2EE 5370

112 [2]=0] HI=L A 530 Lol Y gle S2EY 30/ - ETH () =3 | 14¥ 13 7 #70,000 #70,000

113 [2]=0] H =LA F50] Lol 4 gl 525 30 o0 L H s | K 14 7 W70,000( #15,000 w85,000(Lto] & ol BREE 5370

114 [2]=0] H =LA F50] E23tet 2 Hi = S50l MS0lX|? E3a| 11 20 13 80,000 80,000

115|920 Hl=LA E20 A ANY ch2tel Z30f OpAF 1 (1) =3 | 174 22 5 80,000 15000  #95,000| % A7) Ct2t F=0f ODRAE STEP 1
116 |2/=0f Hl=LA E20 A ANY ci2tel Z30f ORAH 1 (2) =3 | 174 19 4 W80,000 80,000

117 [21=0] H =LA F50] AW Chh Y =01 OFAH 2 (1) =3 | 1 19 6 #80,000( 15,000 95,000 | X M7HF CHafl S=0f OpAE] STEP 2
118 |2|=0of H =LA &20] AW Ch2te S20] OFAH 2 () =g | 1 21 7 80,000 80,000

19 |2/=9 7|EbH| =LA Q=0 |MRR HEHO 2Y =53] 11 15 76 50,000 50,000

120 |9I=0f J|EFH|=L|A 9|0 (W2 HIEHO HH 2|zt =3 | 174 15 76 50,000 50,000

121 |91=09 7|EHH| =LA Q=0 MR HEH0 HES A2 | 17He 15 76 50,000 50,000

122 |9I=09f J|EFH| =LA Q=0 (WM HIEHO 23t 55 B3 | 171 15 76 50,000 50,000

123 |9I=9 J|EFH| =LA Q=0 (WM HIEHO 23t £5 ag | e 15 76 50,000 50,000

124 |91=0f 7|Eb H| =LA QR0 MR H|XL A HIEHO] ag | e 15 76 50,000 50,000

125 |9/=09f J|EFH|=L|A 9| =0f [Z2t AT|QI0f Blot X3 =3 | 174 15 15 60,000 60,000

126 9129 J|Ef H| =LA 9|20 [HA|EA HIRLA AH QO] 3|35} =3 [ 174 15 15 60,000 60,000

127|939 7|EH H| =LA Q=0 |wa|yl X7 2fA[0t0f =3 [ 174 15 15 60,000 60,000

128 |9/=9f 7|EFH|=LA 9|=0] |S2ta H|=L|A 2{A0tof B3 [ 174 15 15 60,000 60,000

129 |9/=9 JIEHHI=LA 9|0 |22 FX & Q=LAloto] 33t =3 [ 174 15 15 60,000 60,000

130 |9/=9 7|EFH|=L|A 9|0 [A-OHH|=LA oIz A0t 3 [ 171 15 15 60,000 60,000
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